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QUESTION 1

What does the number inside the square bracket represent? 

A. Metric 

B. Local preference 

C. Protocol reference number 

D. Route preference 

Correct Answer: D 

 

QUESTION 2

What are two protocols that the Junos OS uses to archive configuration files remotely? (Choose two.) 

A. SFTP 

B. SCP 

C. HTTP 

D. FTP 

Correct Answer: BD 

 

QUESTION 3

How many IP addresses can be configured on a given interface? 

JN0-103 VCE Dumps | JN0-103 Practice Test | JN0-103 Braindumps                                2 / 3

https://www.pass4itsure.com/jn0-103.html
https://www.pass4itsure.com/jn0-103.html
https://www.pass4itsure.com/jn0-103.html


https://www.pass4itsure.com/jn0-103.html
2024 Latest pass4itsure JN0-103 PDF and VCE dumps Download

A. one primary and one secondary 

B. one 

C. as many as you want 

D. one primary and multiple secondary 

Correct Answer: C 

 

QUESTION 4

What is the subnet mask for the 172.45.32.6/19 address? 

A. 255.255.240.0 

B. 255.224.0.0 

C. 255.255.224.0 

D. 255.240.0.0 

Correct Answer: C 

 

QUESTION 5

Which statement is true about the longer route-filter match type? 

A. All routes within the specified prefix that are longer than or equal to the given prefix are considered a match. 

B. All routes within the specified prefix that are longer or equal to the given prefix up to a defined acceptable prefix
length are considered a match. 

C. All routes within the specified prefix that are longer than the given prefix up to a defined acceptable prefix length are
considered a match. 

D. All routes within the specified prefix that are longer than the given prefix are considered a match. 

Correct Answer: D 
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